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Bl E8 AF AD_E5 c70 233495.htm 51. Ive kept up a friendship
with a girl whom | was at school _ twenty years ago.A) aboutB)
sinceC) tillD) with52. He wasnt asked to take on the chairmanship of
the society, insufficiently popular with all members.A) being
consideredB) consideringC) to be consideredD) having
considered53. for the timely investment from the general
public, our company would not be so thriving as it is.A) Had it not
beenB) Were it notC) Be it notD) Should it not be54. The Social
Security Retirement Program is made up of two trust funds,

could go penniless by next year.A) the larger oneB) the larger of
whichC) the largest oneD) the largest of which55. Nowhere in nature
Is aluminum found free, owing to itsalways __ with other
elements, most commonly with oxygen.A) combinedB) having
combinedC) combineD) being combined56. Andrew, my fathers
younger brother, will not be at the picnic,  to the familys
disappointment.A) muchB) moreC) too muchD) much more57. |
would have gone to visit him in the hospital had it been at all
possible, butl _ fully occupied the whole of last week.A)
wereB) had beenC) have beenD) was58. Help will come from the
UN, but the aid will be near whats needed.A) everywhereB)
somewhereC) nowhereD) anywhere59. The chief reason for the
population growth isnt so much a rise in birth rates afall in
death rates as a result of improvements in medical care.A) andB)




asC) butD) or60. He claims to be an expert in astronomy, but in
actual fact he is quite ignorant on the subject.  he knows about
It is out of date and inaccurate.A) What littleB) So muchC) How
muchD) So littlel] [J [0 51.D 52.A 53.A54.B 55.D 56.A 57.D 58.C
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